[image: image1.jpg]


6


RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


D10SDM
Ducati Hyperstrada 821 (13-)

	
	

	
	
	
	
	
	
	
	
	
	

	Mounting Kit for Left Side
	
	Mounting Kit for Right Side
	

	ID
	Description
	Cat. No.
	Pcs.
	
	ID
	Description
	Cat. No.
	Pcs.
	

	1
	Slider adapter 
	537/B
	1
	
	1
	Slider adapter 
	537/B
	1
	

	2
	Safety Nut M12 
	811
	1
	
	2
	Safety Nut M12 
	811
	1
	

	3
	Dural. roller – 85mm
	1199
	1
	
	3
	Dural. roller – 85mm
	1199
	1
	

	4
	Dural. roller d = 30mm
	171
	1
	
	4
	Dural. roller d = 30mm
	171
	1
	

	5
	Bolt M6x20
	1024
	2
	
	5
	Bolt M6x20
	1024
	2
	

	6
	Washer M6
	1023
	2
	
	6
	Washer M6
	1023
	2
	

	7
	Steel Rod 12x495x30x30
	-
	1
	
	7
	
	
	
	


Instructions:
1.) Unscrew original bolts from the frame.
2.) Push the ID.7 Steel rod through the frame. 
3.) Equip the ID.3 and ID.4 rollers onto both ends of the rod.
4.) Fit the ID.1 slider adapters after the dural. rollers and tighten the whole assembly with ID.2 M12 nuts.
5.) Finally, mount the slider onto the slider adapter with two ID.5 M8 bolts and ID.6 washers.
Use medium strenght blue color thread glue during installation.
[image: image2.png]



1

